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Answer alI the 4 questiohs'.' Each,carries 1'mark.

fi) n matrix in which every element is zero, is said to be 79:Io
\J 'r '' ' -1:., '-" r'r':

Rank of the matrix 's/1_ th4l lh.r-

=S*o

determinaht.
of the determinant is the number of rows or columns of the

F,ART-'B
'i

Answdrgny 7 questioni E' nCarti&i mart<s

,/
Srfinat Wonsu mer Su rPl us ?

\1 ).-- 
An6n^t is mingr of an eiementof'a'matrix ?"'
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B. t]+r dx ?

" r/X
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/\ /"
{gX*ptain the concepts of marginal revenue, mdrginal cost, total revenue and total

y'cost.

lz 311 13 211

lr o tl unolo ' tl

l+ 2 sl 12 4 3l

(2x7=14)

example.

PART - C

4 questions. Each carries 3 marks.

constrai nt oPtimization.

substitution rnethod of integration with an

I I 
-..'; Rank of a matrix l3 6 nlf-n

12 4 611

t-r

ffifrn^t is Eigen value ?
/__/Y , 17 Are the following two determinants equal, why ?
iJ

xplain with an example equality of matrices.

l\/l
hql Vtffit are rules of integration ?
\_)/
\-/

Answerany

1.5. Explain

16. Explain


